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QUESTION 1

User A issues the command:

LOCK TABLES pets READ;

Which command can User B execute against the pets table?
A. UPDATE pets...

B. SELECT....FROM pets

C. INSERT INTO pets...

D. ALTER TABLE pets...

Correct Answer: B

QUESTION 2

The validate_password plugin is loaded and displays the following settings in global variables: Mysqgl> SHOW
VARIABLES LIKE “validate_password%\\';

Variable name Value
Validate password dictionary_file

Validate password length g

Validate password mixed case count 1

Validate password number count 2

Validate password policy MEDIUM
Validate password special char count 1

When attempting to set your password, you get the following error:

Mysql> SET PASSWORD = PASSWORD ("Hoverl@%\\");

ERROR 1819 (HY000): Your password does not satisfy the current policy requirements

What is the cause of the error?

A. The password is eight characters long, but needs to exceed validate_password_length to be valid.
B. All of the MEDIUM password policy requirements have not been honored.

C. The password matches a substring Hover as a dictionary word.

D. The password does not match the validate_passoword_number_count requirement.

E. There is no dictionary file defined, so password validation cannot work as expected.
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Correct Answer: B

QUESTION 3

Which two capabilities are granted with the SUPER privilege?

A. Allowing a client to kill other client connections

B. Allowing a client to shut down the server

C. Allowing change of the server runtime configuration

D. Allowing client accounts to take over the account of another user

Correct Answer: AB

QUESTION 4

Consider the Mysqgl Enterprise Audit plugin.

You are checking user accounts and attempt the following query:

Mysql> SELECT user, host, plugin FROM mysql.users; ERROR 1146 (42S02): Table “mysqgl.users\\' doesn\\'t exist
Which subset of event attributes would indicate this error in the audit.log file?

A. NAME="Query" STATUS="1146" SQLTEXT="select user,host from users"/>

B. NAME="Error" STATUS="1146" SQLTEXT="Error 1146 (42S02): Table “'mysqgl.users\\' doesn\\'t exist"/>

C. NAME="Query" STATUS="1146" SQLTEXT=" Error 1146 (42S02): Table “mysqgl.users\\' doesn\\'t exist"/>

D. NAME="Error" STATUS="1146" SQLTEXT="select user,host from users"/>

E. NAME="Error" STATUS="0" SQLTEXT="Error 1146 (42S02): Table ‘'mysqgl.users\\' doesn\\'t exist"/>

Correct Answer: C

QUESTION 5

ROW-based replication has stopped working. You investigate the error log file and find the following entries:
2013-08-27 14:15:47 9056 [ERROR] Slave SQL: Could not execute Delete_rows event on table test.t1; Can\\'t find
record in t1\\', Error_code: 1032; handler error HA_ERR_KEY_NOT_FOUND; the event\\'s master log 56_master-bin.
000003, end_log_pos 851, Error_code: 1032 2013-08-27 14:15:47 9056 [warning] Slave: Can\\'t find record in “t1\\'
Error_code: 1032 2013-08-27 14:15:47 9056 [ERROR] Error running query, slave SQL thread aborted. Fix the problem,
and restart the slave SQL thread with "SLAVE START". We stopped at log "56_master- bin. 000003\\' position 684

Why did you receive this error?

A. The slave SQL thread does not have DELETE privileges to execute on test.tl table.s

170-883 PDF Dumps | 120-883 Study Guide | 120-883 Braindumps 3/4


https://www.pass2lead.com/1z0-883.html
https://www.pass2lead.com/1z0-883.html
https://www.pass2lead.com/1z0-883.html

P 2L d https://lwww.pass2lead.com/1z0-883.html
ass ea 2024 Latest pass2lead 170-883 PDF and VCE dumps Download

—— https://Pass2Lead.com

B. The table definition on the slave -litters from the master.
C. Multi-threaded replication slaves can have temporary errors occurring for cross database updates.
D. The slave SQL thread attempted to remove a row from the test.t1 table, but the row did not exist.

Correct Answer: D
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